Student Case Study:
Universal Credit vs Child Tax Credit & Housing Benefit

Finn is a lone parent over 25 years of age. He has one child, aged 14. His rent is £100 per week.
He is a full-time student, but also works 16 hours per week at the rate of £7.50 per hour. 

FINN’S CURRENT CHILD TAX CREDITS, WORKING TAX CREDITS & HOUSING BENEFIT CALCULATION:

Child Tax Credit & Working Tax Credit = 


£140 per week
Housing Benefit: 

Income from Student Finance (Loan) =


£5350 per year after disregards
Divided by 42 weeks (Sept to June) =


£127.38 per week
Minus Disregard (of £10 per week) =


£117.38 per week  = total income from Loan

Total Income for Housing Benefit purposes is:
Wages £120 p/wk, minus disregards (£25 + £17.10) =

£77.90
Tax Credits =





£140.00
Student Loan =





£117.38
Total Income for HB = 




£335.28
Minus Applicable Amount of £157.45 = 


£177.83 income left, to reduce benefit
Housing Benefit taper of 65% is applied = 


no Housing Benefit would be paid

UNIVERSAL CREDIT CALCULATION:

Maximum Universal Credit (10 months / ‘Assessment Periods’: Sept to June) = 

Standard Allowance = 




£317.82 +
1 Child Element =





£277.08 +
Housing Costs =





£433.33
Total =






£1028.23 is the maximum Finn could receive

Income from Student Finance (Loan) =


£6043 per year (after disregard is deducted)
Divided by 10 Assessment Periods (Sept to June) =

£604.30
Minus £110 Student Loan Disregard =


£494.30 Student Loan Income 

Income from Wages =




£520 per month
Minus Work Allowance of £192 =



£328 per month
Income taper of 65% =  




£213.20 Income from Wages

Amount of Universal Credit payable is Maximum Universal Credit minus Total Income.
Therefore, £1028.23 – (£494.30 + £213.20) = 

£320.73 Universal Credit per month

This does not cover Finn’s rent.
Taking rent as £400 per calendar month, Finn has to pay rent of £79.27 per calendar month out of his wages.

COMPARISON:
Therefore Finn is currently receiving his £140 Tax Credits, and he can use some of this to pay his rent of £100 per week. Finn is therefore better off under the existing system, not only by the £40 balance he comes out with after paying his rent, but also because he is not having to use his wages to pay any of his rent.

On its own, the extra £40 per week is equivalent to £173 per calendar month (i.e. £40 x 52 weeks ÷ 12 months). But when also taking into account the fact that Finn has to pay his rent, he would actually be net worse off under Universal Credit by £285.93 per calendar month in total.


